Pycckuin a3biK 101
Ypok Homep 4.2
Schedule of work

For Monday, 20 Mar.
4.2 Grammar: Second (and last!) conjugation of verbs. Pp. 140-141.

Study grammar, pp. 140-141. Note that 2" conjugation verbs may have
infinitive themes in three different vowels, but the present tense non-
terminal vowel is always n. You must learn the infinitive and the 3"
plural to know the conjugation.

To conjugate a verb, get the infinitive and the third plural. 2" conj verbs
can have an inf. theme vowel in a, e, or u. If the 3" pl ends in s or a, you
know it to be 2" conjugation. Remove the -aT or -a1 of 3" pl and get
thereby the stem of the verb. Then apply substitutive softening in the 1%
singular only: change stemn, 6 > nNA, OA, T> 4, A > X, C> . Keep p, A, H
and palatals as they are. Then add 10; change 1 > y if the preceding
consonant is a husher. Example: Al06-T. Stem is A106. Substitutive
softening AIOOA. Add 10. AIOOAL0.

For 2" sg to 2rd pl do not apply substitutive softening. Add u and the
terminal endings.

Mobile stress is predictable from a theme vowel stress in the infinitive
vs. stem stress in the 3" pl: AlGUTB - ADGAT, CMOTPETD - CMOTPAT. In
mobile stress, the 15t sg ending is stressed, but the stem is stressed in the
other five forms, just as in nucatb ~ nuuyT of 1°t conjugation.

Example: cnathb - cnAt 'sleep’. By 3" pl you know it is 2™ class. Get stem
cn-. Apply softening: cna-. Add 10. Get 1 cnato. For 2" sg: cn-. Add uiub.
Get cnuwib. Another example. BUAeTb - BUAAT. Get BUA-. Apply softening,
get BuX-. Add 1. Change 10 to y after a husher. Get a1 BUXy 'l see’'. Stress
is on the stem in both inf and 3" pl, so it stays there throughout.

Here are the verbs for this lesson:

AOOUTDL ~ AKDOAT love

BUAETL ~ BUASIT see

CMOTpPETBL ~ cMOTpPAT look at (+ acc; cMOTpeTb




TeAeBU30p)

cnaTtb ~ CNAT sleep (cf. Eng. hypnosis)

roeopUTb ~ rosopir speak, talk, say, tell; roBoputb no-
PYCCKH

Other vocabh:

CAULLKOM too, too much

TUXO quietly

rPOMKO loudly

KOHEYHO of course

BCE CAbILLIHO one can hear everything

MOXeT ObITb perhaps

HEeCUMMNATUYHDbIN unpleasant

eé He Bce AOGAT not everyone likes it (lit: it (acc)
not all people (pl) like)

For Monday, Mar 20. Read text, p. 138-9. Write workbook, 4.2, T, E, X
and the following exercise for submission.

Figure out the forms, marking the stress with an acute accent:

1.1 love

2. we speak

3. they see

4. you (sg) sleep

5. you (pl) are looking

From verbs we are not yet learning:

6. | answer — OTBETUTb ~ OTBETAT

7. he is studying — yulTb ~ YuaTt (2 changes to a after a husher)
8. we buy — kKynUTb ~ KYNAT

9. | buy

10. | bend — CKAOHUTb ~ CKAOHAT

For Tuesday, Mar 21.
Write workbook 3, U, K, I1; Y and ® for submission.

For Wednesday, Mar 22.




Prepare for short little quizon 4.1 and 4.2.

Practice with the genitive of nouns. Recall: for masc and neuter, the
ending is a/s, for all nouns in nom -q, itis bi/u, for fems in b, it is n.
Examples of masc/neuter: noA, NnoAa, AOM, AOMa, My3en, My3ef,
YUMUTEADb, YYUTEAS, OKHO, OKHA, MTUCbMO, NUCbMA, 3aAaHUe, 3aAaHUA
Examples of -a nouns: KOMHaTa, KOMHaTbl, anTeka, anteku, Cawa, Cawm,
HaTaAbsl, HaTaAbU, HEAEAS, HEAEAU

Examples of fems in b: ABepb, ABepu, MebeAb, MebeAun

Practice: Y Hac HeT (NOAKQ, MYX, CeCcTpa, AeAywWKa, AUPT, 3apaHue,
KOLUKA, PyKa, MAaAbUYMK, Nana, CTAAMOH, YAULA, KHUra, AMBaH, Me0eAb,
YPOK, MY3€M, IAEKTPUK)

For Friday, Mar 24. Complete the study of cursive letters, pp. 15-17 and
25-26, and any other pages on letters you are still not comfortable with.
Write me some samples!!!

Write in beautiful Cyrillic:

Mo npodeccop AKOUT BCe CAAGBAHCKUE A3bIKMU.
MaTb 1 oTew, XUBYT U paboTaloT B HoBocubOHupcke.
lMMoyeMy Tbl He 3Haellb, KYAa MAET HaLLUKU cocean?

For Monday, Mar 27.

Pycckuin a3bIK 101
Ypok Homep 4.3-4.4

4.3 Speaking languages (1 roBOpI0 NO-PyCCKU U NO-aHIrAMMCKH). Russian
grading system (p. 151). Geography with B, Ha (p. 152). Past tense (153).
Preposition o (153). Modal HeAb3s.

MO-aHrAMMCKHU English (with verbs roBopuTb,
NMOHUMATb, YUTATb)

no-¢gpaHLy3CKH French (same)

NMo-pyCcCKu

NO-AANOHCKMU Japanese

no-HeMeLuKH German




ObITb

to be

ObIA, ObIAA, ObIAO, ObIAU

was, were

00Xxe Mo

my lord, Mon dieu

HeAb3f (1) itis impossible + inf (2) do not
(prohibition)

BYepa yesterday

HAXO0AMUTCA is located

nATépkKa 5; OTAMYHO, excellent, A

YyeTBEpKaA 4; xopouwo, good, B

TpOMKaA 3; passing, C

ABOMKa 2; Hexopouwo, D

eAUHULUA 1; o4eHb nNnAOXo, F

MOAOA€EL good job, great!

YyUYuTCAa is a student

YMeTb YMEHT know how to do s.t. (+ inf) 1 ymer

urpartb Ha (paerite

POAHOM f3bIK

native language

fl NPEenoAalo PyCCKUm A3blK

| teach Russian

KadeApa pyCcCcKoro fi3blka

the Russian department

Ha KadeApe

at/in the department

Read text, pp. 148-9 and audit on your CD. Answer q's:

Kyaa maét Bosa?

NeWN =

Read 151 and try workbook b, I, A.

What does Vova caution Belka not to do?

Kakaf y Hux 6oAbLias npooAema?

Y10 npodeccop lMeTpoBckum 3HaeT o Axkume (about Jim)?
BoBa roBoOpuT NO-aHrAMMUCKN?

Read 153. Write for submission a brief paragraph telling: where you
were yesterday and what things you did.




